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OaHlYd SAHA OISHl 250,0008 * 209! 5,000
OSMA st= =X AIE8al S|
73| * 250,000& 1,750
201 Yereoty| 74,79
01 AtR22/Hl 13,000
OHFNMRII A2 2
300,000& = 2CH = 33 1,800
OMRE 27F g 100,000& = 12& 1,200
OHEALAZEE 2 JIEIARE 7Y
500,000& = 122 6,000
OAHIQYA Z2)H2Y ZAsY
100,000 [2F * 43 » 22 )& 1,600
OatIYA JIZ23| 200,000& = 122 2,400
02 =234l 61,796
OoMIILe3 3,500,000 » 12& 42,000
O4ot==R=3 800,000& = 123 9,600
Osugsz 11,000& * 300 = 123 396
OHE"/A E=Hl 1,000,000& * 23| 2,000
OFE=i:] 5,300
SPNE= R ] 300,000& = 12& 3,600
oXHEE= 700,000& * 13 700
SEPNE=ESNu BN L] 1,000,000& * 1CH 1,000
O dtia MUEE L M2HYQ MUBHES 2,500
202 O4Hl 3,000
01 =LA bl 3,000
O&HIQYA R 3,000
206 TH2H 6,600
01 MHZ bl 6,600
O&HIQYA Z2]H#2Y 5,400
oMAIZZOY 2Z 200,000& = 123 2,400
o MAIEX 30,000& * 509! 1,500
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A ARISX 0
M Lol =X =&
& L=SXMEIA KR EEEEE]
SN HB G (BH) - MRAY - BES 0l & B Hlm= 2
Oil &k o8
odHE Y HHOolg A 500,000& * 32| 1,500
OH&E g3zs 7Y 15,0002 * 80X 1,200
301 LEtEAZ 2,123 2,123 0
10 EALAHIBEAS 2,123 2,123 0
Otz =RAEEs Us &I 6yl
75,800& » 721 « 4 2,123
307 gI2told 166,650 160,050 6,600
01 A2 =H| 166,650 160,050 6,600
OYdaXt =24lH| 6,600& » 502! » 365 120,450
OFAtE eigt| 1,000,0002 * 122 12,000
OMEA A28 FYOIRA S)
50,000& * 5021 * 123 30,000
ORYUA LT AR82E 7Y
350,000& * 12& 4,200
405 ItHatE S| 22,135 50,390 N28,255
01 &L SSFHSHI 22,135 50,390 A28,255
O2clXz &l 8,000
oMt XH2I1(1H) 5,000
oXIIE 2SI (1) 1,500
o2g SEE (201) 1,500
ooz &l 3,960
o AP ZEMDI(1CH) 1,870
o 57 (204) 1,540
oMALGE EFII(1H) 550
OIt=0l 100,000& = 794 700
O MO 400,000& * 5CH 2,000
O=FLXE HAHME 165,000& = 1504 2,475
oMas =5 7¢ 5,000
Lol Zg=EXa 22 231,348 223,459 7,889
= 49,450
Al 181,898
101 el4H| 94,199 111,194 216,995
= 36,330
Al 57,869
04 JIZtHIZ22HEsE+ 94,199 111,194 A 16,995
OZE =X 2 SAX 124d] 86,643
oMESIIA(BESSIIE) 58,739
-Jl=g 1,768,000& = 20! » 12& 42,432
= 21,216
Al 21,216
-HEF I 1,768,000& * 29! 3,536
= 1,768
Al 1,768




SA: ASI= XDt
Ha: Lol =X ZX
ol L OIS TIAHIA XY (EHol: & 8)
= - = . SJELS =
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol Ak O BlusZ
—IaRLY
12,6902 * 2012 * 201 » 128 6,092
2 3,046
Al 3,046
OtEsy 2,160
SUESY 30,0002 * 291 * 128 720
= 360
Al 360
DIEL S
20,0002 * 391 * 201 % 122 1,440
2 720
Al 720
S many 54,219,008 * 1/12 4,519
oxeld (55 8I|F) 27,904
=g 1,372,008 * 191 » 12 16,464
= 8,232
Al 8,232
-~ = EOHY) 1,372,008 * 19! 1,372
-S430sy 40,0002 * 191 * 12 480
—ERReY
9,8002 * 40AI2t * 191 % 122 4,704
= 988
Al 3,716
Otssy 2,520
EY 30,0002 * 39 * 128 1,080
JIEHE 20,0002 * 621 * 128 1,440
—gxzNY 28,362,008 * 1/12 2,364
og#z 7,556
oAAPEE
89,463,0002 * 5.08/100 * 1/2 2,273
oEIIQULEE  2,273,0008 * 4.05 /100 93
oR0IGIZ 89,463,002 * 9 /100 * 1/2 4,026
ol ¥ DEEH
89,463,0002 * 13/1,000 1,164
201 Yer2ey| 56,032 35,948 20,084
= 13,120
Al 42,912
01 At el 35,800 19,016 16,784
OHHAIRIII| A2E 2
300,002 * 3CH * 33l 2,700
OMNREE 79 10,0002 * 128 1,200
OHARE L JIE} A28 ¢
300,0008 * 122 3,600
OS2 =X AEBE 58l 55,0008 + 122 660
O=x D2y 28
50,0008 * 6744 * 23] 600
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COARRIS At
Lol =X &8
Lel=EXAEA X3 (98
SA - HB B9 (E) - NRAY - Ba S Lo e DS
Ox=2dE2& T8 SE2X oM
200,0008 * 2& * 23| 800
OZe AbsX2 T2 328 2MsE 26,240
CMANEZH
30,0003 * 4AI2t 24 =« BIHZZ2 )& 23,040
& 11,520
Al 11,520
cnYUH
100,000& = 2A12t * 43| » 4HZZ ] 3,200
g 1,600
Al 1,600
02 3323l 20,232 16,932 3,300
O&II=3 1,000,000& = 12& 12,000
Odote= = 400,000& * 123 4,800
OrdEgss 11,000& 104 » 123 132
ORQUBHIAIAE AIE2 275,000& = 12& 3,300
202 O] 3,000 3,000 0
01 =LHOYI 3,000 3,000 0
O dbi=X2 2 g2xa 3,000
206 M=l 4,800 2,400 2,400
01 M=Hl 4,800 2,400 2,400
O Ab=sX2 Z278 29 s+
100,000¥ = BHEZ 8 * 63 4,800
301 LerE A3 33,607 19,607 14,000
10 HALAHIE S = 33,607 19,607 14,000
Ot=2cU=SXAMEEs ns FItA 0l
75,8003 * 201 * 42 607
OZg =X Ag 24 33,000
oAlE2YE ME+E
2,000& = 7021 = 20 = 10 28,000
oAlE=2d FHAH= 500,000& = 10& 5,000
307 PI2HOIA 33,210 34,310 A 1,100
05 QI2teletz 33,210 34,310 A1,100
OX=ZE HA 600
Oggar=sz 250,000& = 52l 1,250
OsdJl dJlEAME 300,000& = 12 300
Osdll 88 E+=
400,000& = 22 + 128 9,600
Ooaojetdae| === 4950008 » 12& 5,940
O2+Fstx sXze His+2
900,000& = 123 10,800
O2dzHIIE =H UHd ===
40,000& » 123 480
OAUsIIE 538 === 1,000,000& » 1& 1,000
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SA: ASI=Z XD
M Lol =X =
ol LoI= X MHIA X EERE]
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
CEEEIEE 17,0008 * 120 * 13| 2,040
OEHOIX |X 22 100,0008 * 122 1,200
405 THokE S| 6,500 13,000 16,500
01 AU SEF Sy 6,500 13,000 26,500
OnsE AEH 7 1,200,0002 * 3CH 3,600
Oa & X 300,0008! * 3% 900
OnSE Ly 1,000
OHIZA2E 500,0008 * 2% 1,000
DHAZD AASH| 1,000 0 1,000
= 1,000
301 LB A 1,000 0 1,000
[ 1,000
12 JIEIE A2 1,000 0 1,000
DHAZG AALAH 1,000
[ 1,000
COIZRIAL I8 BE 190,900 396,000 A205,100
29 A4 =25 2 Js5FsE 190,900 366,000 A175,100
401 AlEHIL 2] 160,900 366,000 A205,100
01 Al&H 160,000 359,000 199,000
OLolsa 2o 100,000
oY ANdE 24 750,00021 * 400 4 30,000
O2=E 2y 22y 30,000
03 Al&=0Hl 900 2,200 A 1,300
OLols|P 2/2Ua AL 900
402 QI2HXH=O|E 30,000 0 30,000
01 QI2tRt=YE 30,000 0 30,000
003 30,000
Q23 202,809 268,778 165,969
AR B2 202,809 268,778 165,969
101 12 9,799 9,384 415
04 J12 9,799 9,384 415
oza8 9,799
oll=a 32,8808 * 101 * 230 7,563
oxgaY 32,8802 * 101 » 47 1,546
o 2hAlY| 3,0008 * 191 * 2302 690
201 Ler2%y| 92,310 83,604 8,616
01 At 2,000 2,000 0
OZVURY 29 APEE 7
100,0002 * 122 1,200
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A AR S X1
o Lol 27| =&
el A HRES X4 (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
SEEEEEEEEEENEEE
100,000& = 401 * 23| 800
02 =234l 90,310 81,694 8,616
Oz332= & HAl 29,510
o XS XHAl 50,000& * 13 50
oXsi E82 300,000& * 13 300
oEHANMHRE= 100,000& = 23| 200
ocZARA H+=ER=  100,000& * 12& 1,200
ocZRBY - SEE M=
2,200,000& = 128 26,400
ocZRABA ESFINHE 17,000& = 80 1,360
(@) K=3:] 50,000
ocZARA HHH| 400,000& =+ 53 2,000
ot RS 4,000,000& » 12& 48,000
OXt&| 250,000& * 1CH * 12& 3,000
OANEZEHl |Xb 3,000
oSEE AME mAZel 2,000
oZRIA A4 KRR 1,000
OZJR FZHIAIAE SR
400,000 * 128 4,800
206 M=l 11,500 11,700 A 200
01 Mz bl 11,500 11,700 A 200
SoflgX 2 ¥ FatzEs 2 4,500
SRk 30,000& * 100m* 3,000
ogstzs 15,0002 * 100X 1,500
OZ322 & OtALE 7L 500,000& = 10CH 5,000
OZ222% % 3t&% 22 e+ 2,000
307 QI2t0I A 7,200 12,000 24,800
05 BItRE = 7,200 12,000 24,800
O=3Ra et &HH
600,000& = 123 7,200
401 Al&HI LSO 81,200 151,200 270,000
01 Al&H| 80,000 150,000 A70,000
OR4M4ds 4X ¥ HE  1,200,000& * 5071 60,000
OS2TR AEEx SA 20,000
03 Al =204l 1,200 1,200 0
ONM&ZHl gxt 300,000 = 43| 1,200
405 AHeHESHI 800 800 0
01 XYL SSFSHI 800 800 0
OZ3BE W=J ¥ 400,000& * 2CH 800
Zofel =X & 2,669,675 2,991,948 N322,273
= 618,945
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SA: ARSI XD
Ha: Zojol =X B

el OHOISX MHIA EA (B9 &)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
= 504,829
= 125,723
Al 1,420,178
ZONOI= X AHIA B 1,098,958 1,338,781 £239,823
= 618,945
= 105,823
Al 374,190
ZOHI=R LX2lAL 3,625 13,626 At
= 6,813
= 1,362
Al 5,450
101 Q1248 13,625 13,626 A
=2 6,813
= 1,362
Al 5,450
04 JARZRISES 13,625 13,626 A
OROHQ =X LX2IAIY 13,625
=2 6,813
= 1,362
Al 5,450
RONQIXFS R EXIE RIE 2,000 3,000 A1,000
201 Ygreg| 2,000 3,000 A1,000
01 Attt 2,000 3,000 A1,000
O 04Ol XHSHEXIB RIZ
2,000 * 1,0000H 2,000
ROHQI=X 22 5,287 300 4,987
201 Yereg| 300 300 0
01 AtR2elt] 300 300 0
OBOHQI=X ESS ME 1008 * 3,0000H 300
202 01t 4,987 0 4,987
01 =Uj0i ] 4,987 0 4,987
SENIEIIEEES 2,770
OXHME 2= 2,217
BOHQl BMOIAE &X 22 2,400 3,600 A1,200
201 Yer2g| 2,400 3,600 A1,200
02 ZZ2Y| 2,400 3,600 21,200
OROfOIZIZE SR 22
10,0008 * 241 * 12)HS 2,400
REHWAEET =2 AL 2,110 12,110 0
201 Yer2g| 10,050 8,250 1,800
01 AtR2elt] 1,250 6,250 A5,000
OXBIMA=ET T RE 12,5002 = 109! 1,250
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SH: AEI= XD
HE: 4Rl =X B
el OHOISX MHIA EA (e @8

SH M HA(FA) - HRAE -

0x
I
=
[
2
=P
R
12
o
£l
0l%
IS

el

Al 6,912

01 At 2t2lbl 8,640 8,640 0
OZHAZ F=XIR(1802)) 8,640

1,728
6,912

= H

=g X& 641,093 986,734 N345,641
448,765
38,466
153,862

= H W

301 et2as 641,093 986,734 A345,641
448,765
38,466
153,862

= N W

H=+ol= 641,003 986,734 N345,641
g XI&(1,137¢)) 641,093

448,765
38,466
153,862

=M

J0Hots R&d+=E X& 45,020 22,590 22,430
31,514
2,701
10,805

= HnH

301 LErP AR 45,020 22,590 22,430
31,514
2,701
10,805

=z HnH

o3 45,020 22,590 22,430
OFfots 2L (1821) 45,020
31,514

2,701
10,805

= H W

ZOHQ! Xt sl X 3,163 2,943 220
2,530
127
506

= H W

301 LetEas 3,163 2,943 220
2,530
127
506

=N W

01 MaIE2EH*63 3,163 2,943 220
OFoHel XA =Hl X2 (621) 3,163
2,530

127
506

= N W

O SF2Is0SEM IR 2,160 2,180 220
432
1,728

= H
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SA: AFEIE XD
B mojol =X EX
CHel: ZOHQI= X AMHIA &4

SA - =BG (3) - MR A

R
I
[
2

e

=1
B
121

301 et A=

= M

2,160

432
1,728

a]]
2l StOtS =M EIHXIR (162!)

= H

2,160

2,160

432
1,728

2,180

AN 20

= N W

58,597
41,018

3,516
14,063

95,325

A 36,728

307 2120l A

= Hn W

58,597
41,018

3,516
14,063

95,325

A 36,728

05 212t

= HnH

58,597

58,597
41,018

3,516
14,063

95,325

A 36,728

= HnH

200
100
20
80

200

307 2120l &

= H W

200
100
20
80

200

01 A2 =4
0

= H W

200

200
100
20
80

200

= H W

2,633
2,106
105
422

2,481

162

307 GI12t0ld

= MW

2,633
2,106
105
422

2,481

152

01 9

yo
e 4
1]
= o

O
0%
1]
T
A
9
1
g
Tt
3

= HnH

2,633

2,633
2,106
105
422

2,481

152

e of=dl X2

18,943

12,145

6,798




Rk
L IO =X BX
el

X ZH
S =

At = X ot

ZOHI=X MHlA gt

SN CR(EH) - NRAY - BES

[
2

20
B
2

= NN

15,154
758
3,031

307 2120l A

= HnH

18,943
15,154
758
3,031

12,145

6,798

01 I8¢+ 2l

ZOHQl o2 H| KIS (14091)

= HnH

18,943

18,943
15,154
758
3,031

12,145

6,798

HEZH ARIFHET KA

=z HnH

22,813
18,250
913
3,650

7,000

15,813

307 2120l &

= H W

22,813
18,250
913
3,650

7,000

15,813

02 QI2ZtABAE X
xHOH Ol
o —

= HN W

22,813
22,813

18,250
913
3,650

7,000

15,813

= H

22,560

4,672
17,888

24,360

A 1,800

301 et a=s

= M

3,200

800
2,400

3,000

200

01 A2 X563
]
—

= H

3,200

3,200

800
2,400

3,000

200

307 QI12t0ld

=

19,360

3,872
15,488

21,360

2,000

01 A= =H
o

OFoiel BI=0 2lZHl XI|(32)

02 gl

™
o,
o ox

O
0z
2

=

=

9,760

5,760
1,152
4,608
4,000

800
3,200
9,600

9,600

11,760

9,600

A2,000
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SA: ARSI XD
Ha: Zojol =X B
el ROHQIZ X MHIA B (B9 &2

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

1,920
7,680

= H

04
2
ro
Rl
e
-
Pall
=
o
02
0
i
40
[=)
-
[0
>
1Q

70,110 44,460 25,650
35,055
7,011
28,044

= H W

101 el H] 70,110 44,460 25,650
35,055
7,011
28,044

= HN W

04 JIAHZ2HSE= 70,110 44,460 25,650
OFOe =QUXXIMEH #HAEC-0/(62!) 70,110
35,055

7,011
28,044

= Hn W

ZOHOtSTHE X 2 At 24,000 12,000 12,000
16,800
1,440
5,760

= Hn N

307 2120l & 24,000 12,000 12,000
16,800
1,440
5,760

= HnH

05 IZtRAEF 24,000 12,000 12,000
O&OotES MHEXZ AL 24,000
16,800

1,440
5,760

=z HnH

SIH Mol SAS& K& At 115,000 0 115,000
42,500
72,500

= H

307 2120l & 90,000 0 90,000

30,000
60,000

=z H

02 QIZtFAEX 90,000 0 90,000

OdH HELR aga XN& A 50,000
10,000
40,000
OXHMoH =<R0I6EH K& A 20,000
10,000
10,000
20,000

10,000
10,000

=

= H

O
R
=
]
>
10
t
e
Ho
0z
o
k>
Ho
09

=z H

402 QIEHE0IM 25,000 0 25,000
12,500
12,500

=
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SA: AFEIE XD
B mojol =X EX
CHel: ZOHQI= X AMHIA &4

=

e

M- E3H . E2(3H) - MEAY -

el

[
2

20
B
2

01 2= X
0

OXH Mol =R0IME HBIXIZ

= H

25,000

25,000

12,500
12,500

A0 HHARZ2 NH JHLEENH

= Hn N

1,200
840
72
288

1,200

307 21201 &

= HnH

1,200
840
72
288

1,200

05 g2t

=z HnH

1,200
1,200

840
72
288

1,200

= H1 AL

1,550,717

504,829
19,900

,025,988

1,551,617

A 900

=M

639,000

281,694
357,306

639,000

307 2120l &

= [

639,000

281,694
357,306

639,000

Ju ot
P

O
0
2

=
=]
S|
oy
e ox

>
il
Ho
02

K& (1HA)

=M

639,000

639,000

281,694
357,306

639,000

2
ro
2
19
=
1]
>
x
Ho
02
>
0

=M

522,941

207,325
315,616

522,941

307 2120l &

= M

522,941

207,325
315,616

522,941

02 2lt3aEx

OZOH MNATHEAIE 2L X2 (200 L)

Rl

522,941

522,941

207,325
315,616

522,941

OHO! MAZTONAIE BAE X

=

10,000

2,000
8,000

10,000

307 2120l &

in

10,000
2,000

10,000




SN AEST D
o Zojel =X S
el ZojOI=NAE 2% X

SNBSS - MEAY - BES

[
2

20
B
2

Al

8,000

At
=}

F

HL

02 gl EN

OXAME AL HiSHI(2004)

|'L|
0

= H

10,000

10,000

2,000
8,000

10,000

=M

39,937

15,810
24,127

39,937

307 2120l &

Rl

39,937

15,810
24,127

39,937

02 BIIFABE

=M

39,937

39,937

15,810
24,127

39,937

ZOHQl KISASITHEA L 2L XA

=

256,539

1,440
255,099

256,539

307 2120l &

=

256,539

1,440
255,099

256,539

02 DI+ A

OX<Z Atz

HEANE 2SR (3MHA)

=z H

256,539

7,200
1,440
5,760

249,339

256,539

EXA2ZEXNH2E X

o

= H

24,000

4,800
19,200

24,000

307 2120l &

= M

24,000

4,800
19,200

24,000

02 YIS Ex

= H

24,000

24,000

4,800
19,200

24,000

= H

21,000

4,200
16,800

21,000

307 GI12told

=

21,000

4,200
16,800

21,000

02 QI3 AE X
ot [o]]
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